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L (30%) I a random variable has the Poisson distribution witl; average
number of successes 1= 4:

(a) {207%) Caleulate the probability for the values 0, 1, 2, 3,4,5,0,7,
&, 9,10, 1], and 12 and then the cxpected number of successes and
the variance of this distribution. (Note: it is easier to calculate the
probability values using the recursive formula)

(b) (10%) Give the relationships between mean A, expected number
of suceesses g, and variance o’, based on the results obtained in

(a).

2. (10%:) A tralfic engineer wants 1o estimate the population mean within
A mle per hour with 99 percent confidence, and based on previous
speed sludics the standard deviation is expected to be 4 miles per hour,
What is the minimuin sample size required? (Normal distribution with
99 percent confidence: z=2.575)

3. (30%) Cousider the following data on the number of bedrooms, the
nuinber of baths, and the price of one-family homes recently sold in a
conunuity:

Numiber of Bedrooimns Number of Baths Price
X x, (Dollars)
¥
3 2 23,800
2 1 19,300
4 3 28,800
2 1 19,200
3 2 24,700
2 2 19,900
5 3 33,400
4 2 27,900

Obtain a linear cquation for the price of one-family home in lerms of
the number of bedrooms and baths.

4. (30%) Suppose we want to compare the average yield of four varieties of
wheat on the basis of the foliowing data (in pounds per plot) which an
agronomist obtained for three test plots of each variety:

Variety 4: 51,52, 47
Variety B: 50, 43, 42
Variety C: 46, 46, 43
Variety 1, 49, 49,46

Test the null hypothesis against the altemative that thet
means arc not all equal (or that the treatment effects are not 4] ZEro).
Nofc: /. =407 for k-1=3 and k(i-1)=8,




